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. ALLEN

Reduction

REDUCTION

Which of the following compounds produces
an optically inactive compound on

hydrogenation ?

H  CH, -
3 _ S 4) %

The major product [R] in the following

sequence of reactions is :-

(i) LiNH,/ether

(i) H,C
/CH—Br

(CH,),CH

HC=CH [P]

(i) HgSO,/H,SO0,
(i) NaBH,

Conc.H,SO,
A

>[Q] >(R]

HC

1 NC=CH-CH,
D cnycn

H C\
) ,C=C(CH,),
H,CCiL,

H.CQ
3y ,C-CH~CH,
CH(CH,),

HC
(4) /CH—CH:CH2
(CH,),CH

The most appropriate reagent for conversion of
C,H;sCN into CH,CH,CH,NH, is :
(1) Na(CN)BH;
(2) LiAlH,
(3) NaBH,
(4) CaH,
The correct match between Item-I (starting
material) and Item-II (reagent) for the
preparation of benzaldehyde is :
Item-I Item-II
(P)HCI and SnCl,, H;0+*
Q) H,, Pd-BaSO,, S
and quinoline
([II)Benzoyl Chloride (R)CO, HCI and AlICI,4
(1) (D-(Q), D)-(R) and (III)-(P)
(2) (D-(R), (ID-(Q) and (III)-(P)
(3) (D-(R), (ID-(P) and (IID-(Q)
(4) (D-(P), (ID-(Q) and (IID)-(R)

(DBenzene

(II)Benzonitrile
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SOLUTION
Official Ans. by NTA (2)

m, m,
>/‘\< H,/Ni >/\<
é
Optically Optically
active Inactive

Official Ans. by NTA (2)

(i) LiNH,/ether
(ii) Br

X

CH=CH CH,-CH-C=CH

(i) HgSO/H,SO,
(i) NaBH,

- OH
"\\CH

A
lnm

CH,_ _CH,CH,

g

c
cu” cH,

(major)
Now :- (i) HgSO,/dil.H,SO,
(i) NaBH,

is convert triple bond into ketone and formed
ketone is reduced by NaBH, and convert into
Alcohol.

Official Ans. by NTA (2)

Sol. _ ?
CH, CH, C=N—~—>CH,-CH, CH, NH

cH,-cH,c=NHAH s oy encn,

Official Ans. by NTA (3)

Q
\
\C—H
CO HCl (Gattermann
Sol.() © koch reaction)
Q
\
CN CH=NH oo
&)
11 i) SnCl,, HCI
) @ SR L0, @ (Stephen
i reduction)
mine
0§C Al QQC/
(iii) @ _)l;z,sl’od s @ (Rosenmund
innolfine’ reduction)
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